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(m/s) (kg/m®)
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(m?) (m?) (m) (m) (m)
0.44 0.81 0.46 0.81 4.00
P1 P2 P3 P4 P5 P
(Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
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IN ouT IN ouT IN OK
XIN  RA
OUT: it
A 5,647 m%/h
M E BIGEE 10
£E2 ISHBHEIE LAN/N—OlRRETH
=z = (A UM A
BT EDRRSETHD (—HFD
4H98 48108 48118 48128 48138 48148 47158
JEE BEf | REE | A& By | mEE | RE B mARE | A& Bef | RARE | RE ByfE | REE | RE BffE | RARE [\ EE BfE | mRE
(m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) m/s) (hr) (m3/h)
Fi: ) 14 23 0 54 6.2 0 39 65 0 52 52 0 22 42 0 08 08 0
FELERA | 16 25 3528 63 30 | 14361 47 63 10,765 20 43 4613 1.7 1.2 3,797 10 18 2,210
LER 14 03 3,180 43 2.7 9,709 42 45 9,438 59 58 13,445 23 42 5,287 21 47 4,834
dER | 13 0.7 2,830 44 38 | 10020 | 27 13 6,169 41 1.2 9,282 24 13 5433 25 30 5,647
JLE 00 00 0 00 00 ] 25 05 7,755 13 10 4,035 25 03 7,703 32 05 10,165
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mERE| 32 55 7,210 29 13 6,463 00 00 0 00 00 0 34 18 7610 1.2 05 2,686 . .
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N N [=a N
REESE
FHE AR 3/12  ~ 3/18|8/19 ~ 3/25(3/26 ~ 4/1 42~ 48| 49 ~ 4/14| RERESFHMI) | FERRLMGN) | RKEREMI/N)
@Fa?ji}')ﬁi 955,020 1,003,245 1,172,440 967,317 804,776 4,902,799 816 6,008
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